il'(e)n(w)p Series: [ 3. 9. 16. 11. 18.], erreur Mk 0 = 368.4213528391T6r6p Series: [ 3. 9. 16. 11. 8.], erreur Mk 1 = 381.389514428
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0 | | | | | | | | 0 | | | | | | | |
Temp Series : [ 3. 9. 16. 11. 7.], erreur Mk 2 = 385.941296518 Temp Series : [ 3. 9. 16. 11. 13.], erreur Mk 3 = 390.829070281
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20} : : : : : : : 20 : : : : : : :
0 | | | | | | | | 0 | | | | | | | |
Temp Series : [ 3. 9. 16. 11. 19.], erreur Mk 4 = 392.459369165 Temp Series: [ 3. 9. 16. 11. 5.], erreur Mk 5 = 393.007976914
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20 ! : : : : : :
0 | | | | | | | |
Temp Series : [ 3. 9. 16. 11. 10.], erreur Mk 6 = 399.67355142 1T58p Series:[ 3. 9. 16. 11. 6.], erreur Mk 7 = 402.611475389
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0 | | | | | | | | 0 | | | | | | | |
Temp Series: [ 3. 9. 16. 11. 2.], erreur Mk 8 = 417.361576511 _Temp Series: [ 3. 9. 16. 11. 4.], erreur Mk 9 = 422.450315986
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